20238 &= =014t

Al

eI R

Ol &F A

Al A

A HRN
BH: QYN N 2
el HENE AE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
THE 1t 3,060,642 3,208,738 158,096
= 106,700
= 2,943,942
oHEH MY e 543,042 611,121 268,079
= 79,000
[Ea 464,042
AEANE S 99,218 184,962 A\85,744
N g% 2l 41,572 34,697 6.875
201 2egh=3| 21,940 14,915 7,025
01 At2t2ltl 14,740 7,715 7,025
OXIAl 2 2T & 1,440
-N2AEY HE 60,0002 * 142 840
NN e E 100,000 6 600
OXIZA &o2ld B8+
70,0002 * 102 *22] 1,400
OXIZMl DXIM HMIZ 2,000
-FHSA A8 DXA
80,0003 * 102 A 800
-Z=Al2 XA 80,0003 *102f A 800
SSHolAl IXIA 80,0003 58 A 400
OXIEAl LA SHE M=
300, 000& *337H 9,900
02 S3=4gl 7,200 7,200 0
OMd g% RE= 600,000 * 12 7,200
202 04| 7,128 7,128
01 2LHA b 7,128 7,128
OXIZA HIFZ=A 2,330
OHBIHAI - 2 AEH XA 2,330
OLtAl Xt& & Xl KA 2,468
203 HR=AH] 2,200 2,500 2300
03 A= PR F&IH| 2,200 2,500 A300
OXNZAM= SU AIH =& 2,200
301 2N = 7,150 7,000 150
14 0Bt 2as 7,180 7,000 150
OXIAl daEMA AHEE S 7,150
-l MAE A SR 50,0002 »143H 7,150
306 £= 3,14 3,154
01 2d= 3,14 3,154
Ot =AZMAAA EXS 3,154
NEA =23t 3,532 40,265 A\36,733
308 AtAIEHMSOIE 3,532 40,265 N36,733
1 SISt AS A 3,632 40,265 136,733
OR=NgM 28 22 1,521




ZH: OFRZE A

R

ol 3t
= /| L
2 ATMT P

SA - B CRI(S]) - NISAY - BES A HIm=S2t
OSIBHAAAE 1,949
OLNSEAIAE 62
KEMICH XIEAIEEA 54,114 5,114
308 AIXISHMSOIH 54,002 54,002
11 3I|2S0IHst ]l 54,002 54,002
OXAN XIEAEE SAE 7RI
2=t 54,002
403 RtXISHHMSKHE01H 112 112
02 SISO CHStR=2X RIEAIS I 112 112
OXHMIU RIZHEEAAEH ASAE 222 112
MY HEE =S 82,002 77,502 4,500
THALA 2 Xt XA 82,002 77,502 4,500
201 LB-2AY| 77,250 72,750 4,500
01 AR2teld| 21,250 20,550 700
OXIEA DX HME 11,200
=& XA 80,000 x20 A 1,600
-NSXA DX 80,0003 302 A 2,400
-MA&EAl DXIA 80,0003 *90t A 7,200
OXZ2lH EH ¢ 300, 000& *3CH*23 1,800
OXIgA g5 8,250
-XEXHA 8
110,000 *15I1*33| 4,950
“TMHA&Al S ==
110,000 *15JH 23| 3,300
02 33244l 56,000 52,200 3,800
OZMl 2X&E
11,200,000 & *53] 56,000
202 0441 4,752 4,752
01 =W OdbI 4,752 4,752
OTHEEA St 4,752
FEIDIR AFE ZAl 197,362 191,436 5,926
= 79,000
= 118,362
FEOHE AR & 8,050 5,650 2,400
201 LB-2AY| 8,050 5,650 2,400
01 AR2teld| 8,050 5,650 2,400
Og=8DA &9 X
110,000 * 1571 *33| 4,950
ORS4 IIBRBAIRRE &Y
70,0003 *10F*13] 700
OMES= SaHE T2 S 2| 2,400
FEDIAE IAL Y BB (EX) 177,972 174,446 3,526
= 79,000
i 98,972




A HRN
B OIEE AlQ) 2
Rl FEIHEE AE SAl (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
101 @124H| 73,741 70,215 3,526
= 35,108
= 38,633
MU IIRIMZZENSES 73,741 70,215 3,526
OMEZeI12 ZARY 019
76,9602 +2924 5282 62,492
= 29,752
2 3,740
OMEZSIIH TR AHPER
76,9603 x20H «28L + 18% 11,249
= 5,3%
= 5,893
201 er23| 101,231 101,231 0
= 42,392
o 58,839
01 AtR2te|HI 101,231 101,231 0
OINEFEIHA 99,231
-MEIHA BErrE
6,402 x15,500= 99,231
= 41,392
= 57,839
OFEIAZAIE MFES FY 2,000
= 1,000
o 1,000
202 04| 3,000 3,000 0
= 1,500
[Ea 1,500
01 =LHO LI 3,000 3,000 0
OFHEHIAN(SE - HE) 3,000
= 1,500
= 1,500
=813 283K 11,340 11,340
201 er23| 11,340 11,340
01 AtR2t2|HI 3,600 3,600
O=80ta 2 SN2 X
2002 %18,0000H 3,600
2 S22l 7,740 7,740 0
OFel g2 EX2 B2
4302 *18,0000H 7,740
NLASA 2ot 50,207 59,812 29,605
NLASH 2 2l 50,207 59,812 29,605
201 er2&| 46,643 56,248 29,605
01 At2teltl 20,473 22,698 N2,225
OSAIEAl 7Y 25,0003 202 A 500




A HRN
X-I;_(H: O}‘I-II-l }\-”OI il—E
=Sl NLASAH 2ot (S+9):
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ODXA H= 2,000
“REHSA DA 80,0003 x58+ A 400
—=2A OXA 80,0003 »202f A 1,600
OXIgA 62 2= M 5,650
-NLASH 222 4,000
—2IA S & o2k
110,000 =154 1,650
OEtHAHIM =M S BEUCIS 88
] 23
OoZgH &Y + 300,000 x2CH*23] 1,200
Ot 018442 80445, 00021 3,600
OX=doIMEeH A2S 28
1,500,0002+55 7,500
02 S3=gHl 26,170 33,550 27,380
O2Es & IXAN RER
4303 *35,000A 15,050
OX=d0IMZlE Al
4,560,000 =2CH 9,120
LESLSAAY OIS 2,000
202 04| 3,564 3,564
1 =LA 3,564 3,564
OXgASH g% =8 3,564
KILA Ea= 78,475 71,680 6,795
KAl Hig2tel 76,075 69,280 6,795
201 el 69,375 65,080 4,29
01 At2telt] 14,840 13,420 1,420
OXLAN S=(ME)DXNA T
80,0003 602+ A 4,800
OXNZA HEA MEHE X3 MEIA 01
= 2,640
OXZAl MEX tlz AT MblA 0l
= 2,200 +5002H 1,100
OXtet2e|SAH S0 Ul ==
200,000& *10H 2,000
ONZAM(MEE) &8 82 s+ & g2t
DN 110,000& %1522} 3,300
OR¢ol Sg=HAAY =2
80 *12,5002 1,000
02 S5=2g4l 54,535 51,660 2,875
OXgANl Hgxe fER 31,025
-SEINAM L5 2,230 *1,0000H 2,230
-HEDXAM g 430% %54, 0000K 23,220
-HEXE Ml & S
2,230& *2,5004 5,575
OME X o658 ANEE SU=
40,0003 #2CH+12& 960




2A:

e

ni;

B OIEE AlQ) 2
el XA Z+ (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHMg Xt eisd ALY SN2+ 6,800
Ot SXAIAE 0182
150,000& 122 1,800
ONgd SE2eIAAE SN2 11,000
OLel2 RAE= 2,400
ONICE ot0l&l MHIA 0l8= 550
202 04l 3,000 500 2,500
01 =LHOHI 3,000 500 2,500
OXNZA = A2 = 3,000
303 Z&a=s 3,700 3,700
01 2= 3,700 3,700
OXIZA d= Za= 500
Od+=gR&EI AMld= 3,200
= 1,000,000 x10HSH 1,000
-2 700,003 *1HSH 700
-2 500,000 3 EH 1,500
KA 2=E2tel 2,400 2,400 0
201 2= 2,400 2,400
01 AtR2t2lt] 2,400 2,400
O=gaelg Zgd &Y 72¢
300,000 +8H 2,400
N2l+=g 2] 35,778 25,729 10,049
Nel+=g 2d2¢e] 35,778 25,729 10,049
201 er2 3| 4,470 3,720 750
01 AtR2t2|HI 4,470 3,720 750
OAM2+g IXAN & S M 3,600
-UAA & S5 80,0003 #4582 A 3,600
OMEA 234t &7 L oiMl dNUEE ==
= 3,000& x50 150
OJIFSeAEe B&+E
70,0002 62 *13] 420
OANI2l==& oA}t F
100,000 *3H 300
202 04| 1,000 800 200
01 =LHO LI 1,000 800 200
ONe+¢g d+ 22 =X 1,000
308 AHXIEMSOIH 30,308 21,209 9,099
11 SIS0t oA AS A 30,308 21,209 9,099
OHZEXNLHLA+=LISAIAE FA2c] 30,308
SEe 32l 198,643 175,906 22,737
S8H0l 3H2Y 175,443 154,706 20,737
Zake] 36,600 34,200 2,400
201 2egh=3| 35,000 32,600 2,400




SA: LD
g SEE A2l
el 2EH AH2E (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 35,000 32,600 2,400
OZMM 2 B2 HE oI
150,000 x25+60= 18,000
O=2101 2] A2 24K M= 5,000
OZUARR Bai4T
150,000 x4 20 12,000
301 EtE NS 800 800
11 dAMEEIXIZE S 800 800
OZNAASIE ASDE0M]
200,000 x4 800
307 @20l & 800 800
12 QIZ2HRIRAE =] 800 800
OZ¢BARE A LS
200,0002 x4 800
AE2te] 27,837 26,715 1,122
101 e124d| 23,473 22,351 1,122
PELEEPEEES 23,473 22,351 1,122
ONYHE T2 g=is oy
76,9603 *12H+3062 23,473
201 er2 3| 2,600 2,600
01 AtR2telHl 2,600 2,600
O&3J| 22F & 3HAN7 HEEX S 7
= 2,600
202 04| 1,764 1,764
01 =LHOLI 1,764 1,764
OXlg g2 =d 1,764
SHZAHSRH MEESH It 4,116 4,116 0
201 er23| 4,116 4,116
2 52434l 4,116 4,116
OAHZAHSRE HELSSE I 4,116
-2E5tE 3AR 0l4t 130,000 ~4&H 520
-25eE 5HE 01y 40,0002 ~8H 320
-2t 5MOHA 0/t
13,0002 x252& 3,276
=3 7Y - 2 23,266 23,266 0
201 er23| 22,666 22,666
01 At2teltl 10,230 10,230
OSS2cIAIAE HXHEH
9302 11,000H 10,230
02 S3=gHl 12,436 12,436 0
Os32cANAE RA2=+H 12,436
202 04| 600 600
01 =LHO LI 600 600
Os3 2l Nk 600




SA: LD
g SEE A2l
el 2EH AH2E (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Hiefztel 83,624 66,409 17,215
01 e1A4H| 23,473 22,351 1,122
M ORNZZE2NSE S 23,473 22,351 1,122
ONmAEZIY 9 S oy
76,9603 * 12 +3062 23,473
201 ger=3| 53,023 36,930 16,093
01 AtR2te|H] 39,925 24,060 15,865
OAsEgd e 17,0002 x65+20% 1,700
OIIFEEX 7= 20,5003 x5+ 122 984
Sy ENLE LR
70,0002 102 +23] 1,400
OUZIEE 02442 (ML) 20,000
~5E0IE 0|2t 10,00024%21021 2,100
5EOHE 0142912 0|2t
20,0003 7004 14,000
298 04 30,0003 %1302 3,900
OASEEZSIHAIAE GO A X278
e 2 2= 5,841
O=3Hef ALEESA 10,000
2 S5=24g4l 13,098 12,870 228
Odetidae|s Z208 JI=XdEY
1,091,500& «12& 13,098
202 04t 7,128 7,128
01 =LHOHI 7,128 7,128
OAS g= =& 7,128
SA2)| ANE =2¢ 23,200 21,200 2,000
SARI| XA AL 23,200 21,200 2,000
201 et 3| 22,000 20,000 2,000
01 At2t2l] 22,000 20,000 2,000
ONSHE 24 Iz € 38 89 22,000
202 04l 1,200 1,200
01 SLHoIH 1,200 1,200
OsAR)| g2 =8 1,200
Metel 288 2l 2,267,813 2,380,567 A112,754
= 27,700
[Ea 2,240,113
SHMee 28X 2| 1,533,589 1,393,830 139,759
S A2 1,533,589 1,393,830 139,759
201 el 629,889 590,130 39,759
01 At22t2lt] 37,100 32,020 5,080
o=tle olg("4E #+8) 1,500
OS=Mat 2l 33,500
-JlE2+=&Hl 5,000




od
i’
oF
uJ

-

KIO

Hlw

34,679

100,000
100,000

A252,216

34,384

28,584

307,616

HMEE
Ofl &k2h

3,700
3,700

558,110

800,000
800,000

856,000

442,030
107,530

856,000

Ofl &F2H

2,500

20,000

3,000
3,000
2,100
592,789
30,000

561,289

229,638
1,000

3,300
16,500
7,800
23,820
1,500
3,700
3,700
3,700

900,000

279,231

603,784
27,700
576,084

548,384
476,414

900,000
900,000

i

Mt

12,000
8,280
50,000
15,000
9,000
12,384

136,114

250

- ESS

- SRA(3) - HIRAEY

S - B

<

JI01E ==

_=
=)

=l

70,0003 56 & +6

ol i &f

0l

—

L EE

OZ=Met 28l
OZH=l8l

01 =LA LI

202 044l

K

ST

=

01 A<l

401 Al

3
|x128

100,000 *90CH
2

690,000& *12
258,000 *4

Ab HIBZ Al

2t

X2
g

o

oozt Jt

01 AF2-2t2ltl

O

At

g

3
3+

2 HIIZA

oll
i

A

O

(=]

X

300

10,400

3

,000& 1




SA: LD
M el 8N 2|
el FA2E (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HaZ U 293 Ha
1,000,000 *23] 2,000
-YHASH| 700,000 * 122 8,400
O&=J! & Hitl SXbl 9,500
OFAL AIAE T 22| 89
750,000 122 9,000
2 5234l 340,300 334,500 5,800
O - st=E2(2¥) 1,650,000& 123 19,800
oMz (=2¥) 19,000,0002  12& 228,000
Ogt=2g ot A3 50,0002 *22] 100
Ot=0UXI = E 2]
100,000& 22 200
OIS &&= 300,000 %122 3,600
Os&ll |l 150,000 x2CH* 122 3,600
OFA 22 | 40,000
OFEA 22d 45,000
- ZH| 40,000
-S| 5,000
202 04| 1,970 1,970
01 2K 1,970 1,970
OFAL FAI 2 &2 =& 1,970
401 AIEHIZ R 0HYI 70,000 412,000 A342,000
01 Al&HI 70,000 400,000 A330,000
OFA U2 |24 40,000
Oosda3d 83 =4 A 30,000
AL AHAOH K &S A 55,400 0 55,400
= 27,700
o 27,700
401 AlZHIZ SO 55,400 0 55,400
= 27,700
o 27,700
01 Al&HI 55,400 0 55,400
OLITHAUU X =& SAk 55,400
= 27,700
= 27,700
SEXE 2el 130,440 130,737 N297
SEXNE ]RA & 2l 130,440 130,737 N297
201 er2 3| 121,044 123,393 A2,349
01 AtR2telHl 2,624 3,183 A529
OZExegd 1252 sdIIE =H
135,000« 123 1,620
O=3xE FFHl =2
7,000+ 128 84




SN TR
33 Tetel e85 25l
Bl SEXE 22 (Gt H2)
K- BE - E9I(EH) - HRAR - BaS A HIDEZ
OFHIIBA === 920
2 s5=34l 118,420 120,240 1,820
OXS A 3,200
OXsxt 282 18,300
OXSIt AL Al RIS E = (20%) 2,000
Oxtgr= Al 94,500
223 32,000
-Set 18,500
-St=xt 40,000
-=%)| 4,000
OXEE fdeds iz
35,0003+ 122 420
202 048l 9,3% 7,344 2,062
01 =LHOHI 9,3% 7,344 2,002
Oxtgdel g% =4 9,3%
S3HI(HSM) 41,144 41,144 0
ZHI(TH22) 41,144 41,144 0
ZZHI(HR) 41,144 41,144 0
201 Ler23| 34,718 34,718 0
01 At2teltl 27,518 27,518 0
OJlE=+=sHl 14,040
OJI2=8l 13,478
02 s3=gHl 7,200 7,200 0
O=gRER 600,000 * 122 7,200
202 04l 1,458 1,458
01 2LHoIH 1,458 1,458
ON=Y JI=2g= =8 1,458
203 HR=AH] 4,968 4,968
M A=Y= 4,968 4,968
O FAESHRFA
460,000 122 «00% 4,968




